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( Auditing )
Full Marks : mO :
Pass Marks : 32
Time: 3 ﬂm&m

The figures in the 3965 :ﬂgmm\..:m _

for the questions
. O Resfiams s/1 ws |

Choose the oowwwnm. mbmﬁoﬂ .
alternatives given below : .
(@) Rt <Rt Mronye
Auditing is compulsory for
() “Fepes TR A

Small-scale business

Frg
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Ry

(2)

(3)
(i) RN QY AR @A A .
o B ) i (i) FHECE
all joint stock companies w
: shareholders
iv) N MR 2B 0
it - . W (i) BT
ro S P
proprietary concern ( management
(b) TS {251 =Rrwi2 5 (iv) @A A 3764
Interim audit refers to Company Law Board
U mzﬁ. : W (d) TSR AforaeE T 2 e
oxmh.:smﬁos of ACCoUnLs : The object of internal check is to
continuously
. 1) AR FRY [F 90
(i) TR SRAN o[ i P
o | control wastage of resources
examination of accounts
intermittently (i) T ST A3 A4 A
(i) RN S 75 A T o8 prevent errors and frauds
31C3 31 f2o1e) “r (iif) T G A S o 2T 4T
audit work to find out and check , verify the cash receipts and
interim profits of a company Vs payments
X
(iv) I (S 3R SR 391 I o (iv) RO Fl Frars sz R F41
carrying on audit ' for bonus facilitate quick decision by the
purposes at the end of the year management
(c) TSR B *Rms fefds 39 =ee (e) TToTEIZPTS B 2
Internal auditor can be removed by the Errors of omission are
() R (i) IR o=
government technical errors
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(4)

(i) M T
errors of principle
(i) (PR o
compensating errors

(iv) @[3 9518 T3
None of the above

A1 fev1et sRimeq onfRefire fiefy w0

Remuneration of a company auditor is
fixed by the

(i) SMYRF e
shareholders
fii) e TediE
Board of Directors
(iii) T 5P
Central Government

(iv) Fomseds

appointing authority

95l @AM erenefiiy SRRy et fifey
I *Ie ez Wi =5

A company can issue redeemable
preference shares, if authorised by the

() P B
Memorandum of Association

( Continued )

il :~

()

5y coret forar (R Geen o)

{ 8}

(i) e A i
Articles of Association
Cil B4
(ifi) 1956 71 @ ST
Companies Act, 1956
(iv) ¢1d 518 A
None of the above
| SE2E9 faferq e 23 44 2 A
Shares can be issued at discount under
Section
)76
(i) 75
il 79
(iv) 89
4x4=16

Write short notes on (any four) :

Audit notebook

(b) SRR AN

Internal check

(c) afis fEpret AR

Periodical audit

(@) o fEpret AR

P15—5000/735
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(6) (7

fe) g -favrer o
Cost audit
0 e o

Error of principle

wedt / Or

(b) AWML TFE AW yEH W EEy s
oo e ofn 7 o gy
A Teel Afeetpada aa o fe Aves :
et 74 s 7s4=11
What is the general procedure of valuing
and verifying the stock-in-trade? How
far an auditor is responsible for verifi-
cation of stock-in-trade?

8 (@) Rovt oAmr e fi ) Rt e @4@.
R Ry ofme e B R Sy _”,
BN TS 2 H7=11
Define audit. What are the essential
qualities required by an auditor apart

g | e
from the statutory qualifications? - 5 (@) 1956 R @PUR Wi ﬁﬁ@ a5 {95
i GAlCaai T e S —
Raig DRSS 4 | 6+6=12
(b) Rt R ﬂ&@ T 2 &g Byl o : Discuss the position of an auditor under
TP SR vt AR 0w W LGRS ” the Companies Act, 1956 with reference
YRR SeEy 9 | 3+4+4=1] to his liabilities and powers,
What is audit programme? State the ; SR/ Or
advantages  and disadvantages  of
conducting audits in accordance with a (b) b ¥ @Ry @34 o@.ﬂm TS To
fixed audit programme. etz Rz o a2 6+6=12

How will you examine the following
items while auditing the accounts of a
limited company?

4. (o) ZAF AR SRS 3T 791 1 TS
G 2 RIR AW g B A

o3 wrifee o 5+6=1] (i) TR =
Describe the objectives of vouching. Bonus share
How would an auditor proceed to vouch (i) SR ZWE

credit purchase? Share transfer
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